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DyHKIUA TYBIH/bI AJIFalIKBI
(PyHKIIHS



Tanceipma No2

Tyvinoowt
I’(x)=k
f’(x)=nx""1

£ (x _ 1

f’(x)=cosx




Tarniceipma Ne3

Anzawkoi

pynuxkuun
F(x)=kx+C

n+1

F (x)— FC

n+1

Zx\/_

F(x)=

F(x)=Inx+C

F(x)=-cosx+C



| ) /
CypeTTeplie KECKIHICITCH
KHUCBIKCBI3bIKTHI
TpaIlCLUSHbIH ayJaHbIH

TaOBIHBI3




(I)YH KIINHA TYI)IH A bI AJIFalIKbI

(pyHKIIHA
f(x) = f(x)=
f (x)= F(x) =
f(x)= F(x) =
f (x) = cosSx f(x)= F(x) =
f(x) = f(x)= F(x) = sindx

N \\



Hrroton-JIenOHun Gpopmymach?

f, f(x)dx = F(b) = F(a)

KUCBIKCBI3BIKThI TPAIlCLUSHbBIH ayJaHbIH
ecenrey (popmynacel?

S=F(b)-F(a)

AWHaIIy J€HECIHIH KOJIEMIH €CeITey (POpMyIachl?

b

fQ(x)dx :ﬂfyzd:

a



[ IpakTHUKaJIbIK KE3CH
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JZ cos

O3/11K JKYMBIC

X
2 Zdx
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3 x—2
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azapJapbIHbI3Fa paxmMer!




